DOOR AWNING PARTS




Ref # PART # DOOR AWNING ... all years
1 343240 AWNING RAIL (per ft.)
2 316150 RIVET, 5/32, BLIND (rail)
3 208240 BRIGHT COMPLETE CASE - 3 Slope, 3'-5' (2 Slat, Flex Key, per ft.)
3 708240 SATIN COMPLETE CASE - 3 Slope, 3'-5' (2 Slat, Flex Key, per ft.)
3A 207240 BRIGHT FLEX KEY ASSEMBLY, STANDARD (per ft.)
3A 707240 SATIN FLEX KEY ASSEMBLY, STANDARD (per ft.)
3B 207241 STANDARD FLEX KEY ONLY (per ft.)
3C 340240 BRIGHT SINGLE CASE SLAT (per ft.)
3C 341240 SATIN SINGLE CASE SLAT (per ft.)
3D 317010 SCREW, 6 X 1/2, (stainless) (case)
4 228240 FINISHED DOOR FABRIC, SHORT (per ft)
4 226240 FINISHED WINDOW/DOOR AWNING FABRIC (per ft)
4 227240 FINISHED WINDOW/DOOR AWNING FABRIC, LONG (per ft)
4A 226920 REPLACEMENT PULL FOR DOOR AWNING (nylon)
4A 226900 REPLACEMENT PULL FOR WINDOW AND DOOR AWNING
5 332240 ROLLER TUBE, 2-1/4" (3'-5') (per ft.)
6 221100 SPRING ASSEMBLY, ROUND WIRE FOR 2-1/4" TUBE
7 221550 2-1/4" IDLE END ASSEMBLY
8 210430 HEAD CASTING WITH COTTER PIN
SUPPORT ARM

9 231403F BRIGHT DOOR AWNING ARM, FRONT
9 731403F SATIN DOOR AWNING ARM, FRONT
10 231403R BRIGHT DOOR AWNING ARM, REAR, includes:
10 731403R SATIN DOOR AWNING ARM, REAR, includes:
10A 311101 NUT, 3/16, ACORN PUSH-ON
10B 325214 SPACER, 1/4" X 2/3" (aluminum)
10C 315030 RIVET, 3/16 x 1-1/2 (stainless)
10D 321243 CAP, VINYL 3/16" X 1", BLACK
10E 322220 BRACE ROD, 3/16", (galvanized)

299323 DOOR AWNING MOUNTING KIT, includes:
11A 210065 (2) HINGE CASTING, VERTICAL
11B 317052 (4) SCREW, 14 X 1", OVAL HEAD SHEET METAL (stainless)
11C 310010 (2) BOLT, 1/4 - 20 X 1-5/8", HEX HEAD
11D 310040 (2) BOLT, 1/4 - 20 X 1-1/4", HEX HEAD
11G 311010 (4) NUT, 1/4 - 20, ACORN CAP (stainless)
11H 312010 (2) LOCKWASHER, 1/4" (stainless)
12 210050 BASE HINGE, TRIANGULAR (rib mount)
12A 210051 BASE HINGE, TRIANGULAR (filled, Prevost)
12B 316030 RIVET, 3/16 X 1", OLYMPIC
13 325381 SOCKET
13A 316150 RIVET, 5/32, BLIND (rail)

COMPLETE SET OF HARDWARE, (INCLUDES ITEMS 8(2), 9(1), 10(1) & 11(1) ABOVE)

230403

BRIGHT DOOR AWNING HARDWARE

230404

BRIGHT DOOR AWNING HARDWARE (Prevost)

(XXX) - YEAR, MAKE, MODEL OF COACH REQUIRED
PINgy
Y -\

12/01/18





